Chapter 21 – Practice Questions



1.
Which of the following is not a reason the aggregate demand curve slopes downward? As the price level increases

a.
firms may believe the relative price of their output has risen.

b.
real wealth declines.

c.
the interest rate increases.

d.
the exchange rate increases.


2.
According to the theory of liquidity preference, the money supply

a.
and money demand are positively related to the interest rate.

b.
and money demand are negatively related to the interest rate.

c.
is negatively related to the interest rate while money demand is positively related to the interest rate.

d.
is independent of the interest rate, while money demand is negatively related to the interest rate.


3.
When the Fed buys government bonds, the reserves of the banking system

a.
increase, so the money supply increases.

b.
increase, so the money supply decreases.

c.
decrease, so the money supply increases.

d.
decrease, so the money supply decreases.

Figure 21-2
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4.
In Figure 21-2, which of the following sequences shows the logic of the interest rate effect?

a.
1, 2, 3, 4

b.
1, 4, 3, 2

c.
3, 4, 2, 1

d.
3, 2, 1, 4


5.
Which of the following properly describes the interest rate effect?

a.
A higher price level leads to higher money demand, higher money demand leads to higher interest rates, a higher interest rate increases the quantity of goods and services demanded.

b.
A higher price level leads to higher money demand, higher money demand leads to lower interest rates, a higher interest rate reduces the quantity of goods and services demanded.

c.
A lower price level leads to lower money demand, lower money demand leads to lower interest rates, a lower interest rate reduces the quantity of goods and services demanded.

d.
A lower price level leads to lower money demand, lower money demand leads to lower interest rates, a lower interest rate increases the quantity of goods and services demanded.


6.
Which of the following correctly explains the crowding-out effect?

a.
An increase in government expenditures decreases the interest rate and so increases investment spending.

b.
An increase in government expenditures increases the interest rate and so reduces investment spending.

c.
A decrease in government expenditures increases the interest rate and so increases investment spending.

d.
A decrease in government expenditures decreases the interest rate and so reduces investment spending.


7.
A tax cut shifts the aggregate demand curve the farthest if

a.
the MPC is large because the tax cut is permanent.

b.
the MPC is large because the tax cut is temporary.

c.
the MPC is small because the tax cut is permanent.

d.
the MPC is small because the tax cut is temporary.


8.
If businesses and consumers become pessimistic, the Federal Reserve can attempt to reduce the impact on the price level and real GDP by

a.
increasing the money supply which raises interest rates.

b.
increasing the money supply which lowers interest rates.

c.
decreasing the money supply which raises interest rates.

d.
decreasing the money supply which lowers interest rates.


9.
Some economists argue that

a.
monetary policy should actively be used to stabilize the economy.

b.
fiscal policy should actively be used to stabilize the economy.

c.
fiscal policy can be used to shift the AD curve.

d.
All of the above are correct.


10.
The most important automatic stabilizer is

a.
open-market transactions.

b.
the tax system.

c.
unemployment compensation.

d.
welfare benefits.

ANSWERS:

1=A, 2=D, 3=A, 4=D, 5=D, 6=B, 7=A, 8=B, 9=D, 10=B

